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BERALER

LU 3 (FlR) LAUL 4 (R LUV 5 (BiAR) | %% & i
A
f I T Ao m | 1199.5
N e et m | 1018.7
(25 R i (=5 mwrub m | 180.7
EEEE L A m2 [ 319.2
S+ T
PRHE m3 | 752.8
HRRE L m3 | 421.2
(= Rwas: m3 | 331.6
RS IEE LT
R A T AT 7L b 50 m2 | 723.0
giéﬁﬁfmyﬁ o | 1410
HUERR = > | e
@ib 5 5.0
ML & F 1.0
Ay 2Tz A m | 150.0
HEAAE m 78.0
s m 6.0
fa KA m 90. 0
B m 90.0
H. H & P 4.0
2| & 9.0
AV = MpE=2 & 1.0
15KE m 28.17
e 4 550 1.0
X AL PR av7)-b () m® 3.5
g7 U — b 3 9.9
(BLHHT) m
vy -h (R m® 5.7




BERALER

L~UL 3 (Fl5) L 4 () LUL 5 (Blk) Hfr| % & 1
TAT 7V m’ 36. 2
BT m’ 1.9
BETT AT v 7 HH m® 10. 1
RS LR A vyt (HEERT) t 8.3
Brigay ) - (CRB) t 14. 3
TAT 7k t 7.7
SR T t 2.1
BET T AT v UK t 3.5
[o=] IS L S i L
7&;%%%% ) £ 250 m2 | 4, 217.
7@%)%% £100 m2 | 188,
AR T 0y 7 A% 300 m2 | 1, 314.
a7 Y — Ml € 200 m2 183.
VAN RER RS 270 m2 368.
SEEE A1 150/170 X 200 X 600 m 413.
HEGESE R A2 150~160/170 X 100~200 X 600 AT 7.
SEEE A -3 150X 70 X 600 m 24.
ER-IR 7L, 12000 m 146.
B HEL5 X R [ L
FE (W150) m | 1,288.
e (W100) m 228. O|E¥#mis
€77 R (W150) m 10.
HEE L R~ — & AT 4.
a7k H A 1T
FKE 40 HIVP ¢40 m 90. 0
FKE ¢ 25 HIVP ¢25 m 32.0




BERALER

L~UL 3 (Fl5) L 4 () LUL 5 (Blk) Hfr| % & 1
FaRE 620 HIVP¢20 m 2.0
1E7K#E ¢ 40 SRERF AR ¢ 40 & 1.0
PEERAR & 6.0
Pk Hef T
EVR NSO & P 4.0
BEN T £ R UBMIHE120 X 150 m 110.5
AILE VU200 m 110.5
15KE VU ¢ 100 m | 112.0
1)) - Mok INEETOME & BT 1.0
ANEREE (SM) 200 ¢ X100 ¢ 18l 6.0
KU L
A PN B BRI 5RO
N[ 5y FEAE 1 ¢ 3W200/100V 1 1.0
M Vo 16 2W100V  50/20AT 1 1.0
B 5y RO 1 ¢ 3W200/100V [if] 1.0
BIE S EED 1 ¢ 3W200/100V i) 1.0
55y A% 1 ¢ 3W200/100V i 1.0
Lo BRSO aistae00 o Rek-60m R GOk | FT| 12,0
o — 7 S av s ) — M % 10.0
PAS (BHEAZS) 7.2k V300A LA/VTPNjEEAEISOGHT B 1.0
EM-CEE4 — 7 /L 25q-2C m 7.0
EM-CET 4 — 7 /L 150sq m 378.7
38sq m 482.5
60sq-2C m 94.5
EM-TE#E 4 2.0 x 1 m | 573.6
22sq m 377.0
8sq m 380. 4
ERRE FEP (30) m 7.0




BERALER

L~UL 3 (Fl5) L 4 () LUL 5 (Blk) Hfr| % & 1
FEP (50) m | 475.5
FEP (65) m 94.5
FEP (80) m 771.4
RO A
LEDEE F& AT ARERT 10078 ELAH 2 e 6.0
AT AR — L 676 4 6.0
RAMT HLAE ¢ 700X 1, 300 4 6.0
P T DFE AT 6.0
br— 7 LS av s ) — M % 6.0
EM-CE/ — 7 v 3.5s5q-2C m 333.5
B FEP (30) m 333.5
AT RAH
LEDHR B 5 B LSSIMP/RP-4-46 p-o 6.0
Pimifla o b 2P15A X 2+ET = 6.0
BT A A > F 1P15AX 1 =) 3.0
AL v FRy 7 A L& H =) 3.0
TU Ly bRy 7 A | HRUMAD=44 =) 6.0
EM-EEF & — 7 /L 2.0-3C m 85.6
ERRE (G16) m 85.6
B Fa—EI L 2400 X 1600 X H2370 e 1.0
%ﬁi;_t“yw H1800 m | 12.5
BA X2 —E7 L H1800W2000 3 1.0
P 5E
HERY-) m 624.9
EHRBR Bk P 1.0
it 3¢ A L
H Ik H700 P 16.0
HRAEIH LA (BEdm) W1000H650 P 0.0
BEA H14300 =R 1.0




BERALER

L~UL 3 (Fl5) LoUL 4 (FB) LU 5 (B&) Hfr| % & 1

R L 24838 X 16224 X H8900 & AT 1.0
PEV I LA # 1.0

E¥7—7 1 M 2.0
KGR 6750 X 4450 X H2500 (K7 T ) # 1.0
B 3268 X 6271 X H2588 p-o 2.0
AL P SN @ L0
s B W2250 6E% & AT 1.0
HRPE B At H1100 m 283.0
HNS L7z A 11800 m 5.7
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s TRER LB TAR R R

4 R | BAL ol B oL ) — R sy — 1 @D | s - Custa) ALH RS T A3k BT T AF v M Ak i
BEOOR: [ (o) [ HOTHOR s of) | BOAHOR: g (o) | BEOTHCR: [ o) [ EOTHOR s of) | BSAHOR s () | BEOEROR: B o) | EOTEOR Bt o)

T AT 7L bk m2 723. 0.05 | 36.15

BEEER T 0y m 141. 0. 006 0. 82 0.03 4.51

HiEEER 7 2w s m 25 0. 004 0.11 0.01 0.33

Hik H 5. 0.072 0.36 0.01 0. 06

AyvadesA m 150. 0. 009 1.35 0.007 1. 05

HEAH m 78. 0.010 0.78 0.0006 | 0.047 0. 052 4.06

i3 m 6. 0.003 0. 02 0. 040 0.24

kg m 90. 0. 0009 0.08

B m 90. 0. 0009 0.08

H. H B0 4. 0. 02 0.08 0. 120 0.48 0.03 | 0.120

{71 = Mk-1 T 9. 0.01 | 0.090 0.017 0.15

{1 = Mk-2 T 1. 0. 180 0.18

K m 28. 0.011 0.32

HALH BT L. 9. 20 9. 20 0.50 [ 0.500 5. 400 5. 40

HEIE B LNk 3.52 9.20 5. 74 0. 00 1.86 36. 15 10. 09 0. 00

&t 3.5 9.2 5.7 0.0 1.9 36. 2 10.1 0.0

HALqvy 2.35 t/nf 2.5 t/m 2.5 t/nf 0.38 t/ni 1.13 t/m 2.15 t/ni 0.35 t/ni 2.5 t/m
8.3t 23 t 14.3 t 0t 2.1t 77.7 t 3.63 t 0t




TR R

Al TRk i 5 K B K&
TERK
fi Hi 1,199.5 m? 1,199.5
R+ 1,120.6 m? 1,120.6
Hol R =m%+/1.1 m’ 1,018.7
e 1,199.5 - 1,018.7 m” 180.7
MR EY T
i 752.8 m? 752.8
N 379.1 m® 379.1
Hopll +E=H5/0.9 m’ 421.2
7+ 752.8 — 421.2 m’ 331.6




MEmIEE T BEERR
—_— v | s e OEE mav | ek | mbm | e
RO | HEE | At | EEEE] ) (m3) (m3) (m2)
(m3) (m3) (m3) (m2)
FaKE 640 90.0 | m 0.14 0.14 | 0.002 0. 40 12.6 12.4 0.2 36.0
faKE @25 32.0 | m 0.13 0.13 | 0.001 0. 40 4.2 4.2 0.0 12.8
FaKE 620 2.0 | m 0.25 0.25 | 0.001 0. 40 0.5 0.5 0.0 0.8
17k ¢ 20 1.0 | & 0. 09 0. 04 0. 05 0.16 0.1 0.0 0.1 0.2
Kk 4.0 | AT 4. 45 2.83 1.62 0. 64 17.8 11.3 6.5 2.6
RBENLVF 110.5 | m 0. 94 0.10 0. 84 0.70 103.9 11.1 92.8 77.4
15K 112.0 | m 0.31 0.16 0.15 0.50 34.7 17.9 16. 8 56.0
av)) - 1.0 | T 5.19 4.42 0. 77 0.50 5.2 4.4 0.8 0.5
/NEEME (SM) 6.0 | & 0. 02 0. 00 0.02 0.1 0.0 0.1 0.0
%ﬁ%*lwt\ﬁ” 1.0 |f&Ar| 2.12 0. 65 1.47 4.68 2.1 0.7 1.5 4.7
%ﬁi;*t\‘ﬁ” 12.5 | m 0.18 0.16 0.02 0.05 2.3 2.0 0.3 0.6
%zﬁ‘fl*t\ﬁ” 1.0 |f&Pr| 1.13 0.98 0.15 0.32 1.1 1.0 0.2 0.3
BT LA 6.0 | % 1.13 0.55 0.58 0.81 6.8 3.3 3.5 4.9
N RAR—L 12.0 | % 5. 40 4. 00 1.40 1.44 64.8 48.0 16.8 17.3
Bl T 1.0 | = | 204.97 | 102.02 | 102.95 205. 0 102.0 102.9
#HIED 16.0 | #& 0.18 0. 00 0.18 0.25 2.9 0.0 2.9 4.0
RER 1.0 | f&Ar| 51.40 | 22.20 | 29.20 | 54.00 51.4 22.2 29. 2 54.0
KA 1.0 | f&AF| 51.60 | 34.90 | 16.70 | 28.50 51.6 34.9 16. 7 28.5
Wi LA 1.0 | & 3. 44 0.98 2. 46 6. 40 3.4 1.0 2.5 6.4
Wi (EE7—7 0 2.0 | % 2. 50 0.88 1.62 4.29 5.0 1.8 3.2 8.6
KRG AR 1.0 | & 7.99 4. 46 3.53 5.76 8.0 4.5 3.5 5.8
A 2.0 | % 6.11 3.87 2.24 | 33.46 12.2 7.7 4. 48 66. 9
e e 1.0 | f&pT 0.70 0. 00 0.70 5.78 0.7 0.0 0.70 5.8
hA L 1.0 | f&Pr| 84.06 | 25.51 | 58.55 | 74.26 84.1 25.5 58. 55 74.3
B 7 Lk A 283.0 | m 0.13 0.12 0.01 0.05 36.8 34.0 2.83 14.2
Hind L7 =2 A 75.7 | m 0. 47 0.38 0. 09 0.15 35.6 28.8 6. 81 11.4
G 752. 8 379.1 373.7 493.6
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EREE T THEEFE MpL—T

No fi mgEL | ombwm | W [pooe| T oo me |0 -
(m3) (m3) (m3) (m3) (m) (n2) (m3) (m3) (m)

1 18.38 9.42 8.95 8.78 138.6

2 23.64 12.12 11.52 11.29 178.3

3 3.93 2.09 1.84 1.83 7.0

4 39.73 18.54 21.19 21.12 50.5

5 20.49 11.46 9.03 8.93 78.5

6 21.16 10.12 11.04 11.00 26.9

7 3.52 1.48 2.04 2.03 13.5

8 45.17 21.16 24.01 23.92 74.6

9 20.92 11.13 9.79 9.75 30.3

10 3.93 2.20 1.73 1.72 11.0

11 4.10 2.29 1.81 1.79 15.7

7 204.97 m3| 102.02 m3| 10295 m3| 102.16 m3 m m2 m3 m3 624.9 m
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BthiE Rk TRt &

3l o | e e HI (CA) &+ (BA) 5w
R | Ema| R B | B | e R B
(€]9)
NO. 0 0.11 38. 20
NO. 1 10.000{ 12.20] 6.16] 61.6[ 18.70| 28.45| 284.5
NO. 2 10.000{ 35.10| 23.65| 236.5[ 11.90| 15.30| 153.0
NO. 3 10.000{ 11.40| 23.25| 232.5| 3.45| 7.67| 76.7
NO. 4 10.000{ 11.90| 11.65] 116.5] 3.59| 3.52| 35.2
NO. 5 10.000f  9.59| 10.74| 107.4| 4.86| 4.22| 42.2
NO. 6 10.000f 9.72| 8.73] 87.3] 5.78| 5.32| 53.2
NO. 7 10.000{ 12.40| 11.06] 110.6{ 10.10| 7.94| 79.4
NO. 8 10.000f  6.10] 9.25| 92.5| 2.87| 6.49| 64.8
NO. 9 10.000{ 4.76| 5.43] 54.3| 4.47| 3.67| 36.7
NO. 10 10.000f 3.80| 4.28] 42.8| 6.33] 5.40| 54.0
NO. 11 10.000f 2.05| 2.93] 29.3] 7.03] 6.68 66.8
NO. 12 10.000{ 1.80] 1.93] 19.3| 13.90| 10.47| 104.6
NO. 13 10.000{  0.00{ 0.90 9.0l 0.00[ 6.95| 69.5
NE 1,199.5 1,120.6
& & 1,199.5 1,120.6
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4 H 1 B 2y % &
R LIREREE |1 2.0 A= 127.17+108. 33+83. 74 = 319.240 | 319.2 m?2
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A B & i E

4 B H & A = B =
T AT 7 b Mg |t=50 A= 723.0 m2
BHEEBIR T vy L= 141.0 m
SR 7 0y s L= 25.0 m
HIE 6 N= 5.0 3%
oL N= 1.0 f&pT
RAyvaTerR L= 150.0 m
A L= 78.0 m
R L= 6.0 m
FEKE L= 90.0 m
AR L= 90.0 m
H.H N= 4.0 f&FT
AU =Mht-1 N = 9.0 f&EPT
AN = k-2 N = L0 @
1HKE L= 28. m
e e N = 1.0 f&EAT
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=] I e =
=] S S i 1 % R

4 g H % L = B =

TAT 7V M3 (HiE, BEd) 4,217.0 m2
(HH) 188.5 m2

AT 1 7 BEE] €300 1,314.0 m2
a7 Y — MEEE| t 200 183.0 m2
JINE A A t 270 368.0 m2
. 100
2 R S 100 3,390. 0 m2
AR HE B Sk A —1]150/170 X 200 X 600 413.3 m
S5 EEE B g —2150/170 X 100~200 X 600 7.0 fEFT
HRELE BT % A -3 (150 X 70 X 600 24.2 m
Ry vk 7 /v 3, L2000 146. 0 m
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RN —Y

N U = Mz =
BE L5 X AR a1 ¥ HE
4 g H % B = ¥
Ei (W150) 1,288.9 m
FEi (W100) 228.0 m
Y77 B | (W150) 10.6 m
g =3 40 &
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O s N7 =
Fa K 1 % i
4 g H % B = B =
FRAKE ¢ 40 HIVP ¢40 90.0 m
FRKE 625 HIVP ¢25 32.0 m
HKE 620 HIVP¢20 2.0 m
1K ¢ 40 M IEKEE ¢ 40 1.0 &
MR 6.0 {&A
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1
4 g H % " =Y W =
2K NS0 N=4.0 = 4. 000 4.0 &

BH ML T R UBHNE120 X 150 L =110.5 = 110.500 110.5 m
L% VU200 L =110.5 = 110.500 110.5 m
1HKE VU ¢ 100 112.0 m
VRN NPETOME 1.0 f&FT
NOEHE (SM) [200 ¢ x 100 ¢ 6.0 &
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B SV i T-1 % ol
ZA Bl % B X B
A L B I AR O
NGy B 1 ¢ 3W200/100V N = 1.0 ™
hA L4y 7EME |16 2W00V  50/20AT N = 1.0 ™
AIEyEED  [163W200/100V N = 1.0 m
B EMRED  [163W200/1007 N = 1.0 ™
WSSy |1 ¢ 3W200/100V N = Lo i
SSSQ”‘;’”%? %ﬁgﬁoommﬁmi N = 12.0 f&FT
Ve gy B AR N = 10.0 %
PAS (B H 22 gb(z}évaoo;\ LA/VT AL N = Lo £
EM-CEE/— 7 )L |2sq-2C L= 7.0 m
EM-CET/— 7 /L [150sq L= 378.7 m
38sq L = 482.5 m
60sq-2C L= 94.5 m
EM-TEZE#% 2.0 x 1 L= 573.6 m
22sq L = 377.0 m
8sq L = 380.4 m
EARE FEP (30) L= 7.0 m
FEP (50) L = 475.5 m
FEP (65) L = 94.5 m
FEP (80) L = 771.4 m
BT AR
LEDH ¥ AT JRERAT 4000 2 B AR Y N = 6.0 &
BIEIT AR =L (676 N = 6.0 &
BT el 6 700X 1, 300 N = 6.0 X
e T DFE N= 6.0 faEidT
=7V =y ) — R N = 6.0
EM-CEZr—7"/L |3.5sq-2C L = 333.5 m
EARE FEP (30) L= 333.5 m
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4 g i % L = W =
AT %A
LEDFR HF 45 . LSS1MP/RP-4-46 N 6.0 X
iR = o b 2P15AX 2+ET N 6.0 &
BHRNEL 2 A F 1P15AX 1 N 3.0 &
AL v FRy 7 A L& FH N 3. =
T MLy bRy 7 A | hR 4 D=44 N 6.0 &
EM-EEF 47 — 7" )V 2.0-3C L 85. m
EARE (G16) L 85. m
BAFa—E L 2400 X 1600 X H2370 N 1.0 J&
EBAFa2—E
TR H1800 L 12.5 m
EAF 2 =70 s00w2000 N 1.0 3
PR
HEER Y- b L 624. m
B RR BER% N 1.0 %
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E A Ay K PN i EE R B o1
E24 i
7
@] -
oy B A4 R B 2
NF A
1 ¢ 3W200/100V 1 1
L5y
1 ¢ 2W100V 50/20AT 1 1
B ERO
1 ¢ 3W200/100V 1 1
B ERQ
1 ¢ 3W200/100V 1 1
WSy AR
1 ¢ 3W200/100V 1 1
ANRAR—/VH2-9 900° X900
$524600 ¢ RSK-60 Tffif T (SOKN) 12 12
Ar—T7 VIR
o) — N 10 10
PAS
7.2kV300A LA/VTHERSOGHS 1 1
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LZEE]

FHEE (BNEERBRE &5t

AT E R
EM-CEE#—7'/L | EM-CET4#—7 /L EM-CEA/—7 L EM-IEZE EARE
il 2sq-2C 38sq 150sq 60sq-2C 2.0 22sq 8sq | FEP(30) | FEP(50) FEP(65) FEP(80)
H_H e 3 FEPH N FEP4 N | FEPE N FEPE N BN BN BN R HLEY HLEY Y

EM-CEE4# — 7L 2s5q—2C FEP(30) Y 7 7 7
EM-CET#—~> /L 150sq FEP(80) Y 378.7 378. 7 378. 7
EM-CET#— 7 /L 38sq FEP(50) P 475.5 475.5 475. 5
EM-CET#—~7 /L 38sq FEP(80) Y 7 7 7
EM-CE#—~7 /L 60sq-2C FEP(65)  HH&% 94.5 94.5 94.5
EM-IE&E A} 2.0 x 1 N 573.6 573.6
EM-1EE A 22sq X 2 =N 188.5 377
EM-1EE A 8sq x 2 BN 190. 2 380. 4
R FEP (80) Y 385.7 385. 7

G EEW 7 482. 5 378. 7 94.5 573.6 377 380.4 7 475. 5 94.5 771. 4
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BUOHLE (P&

AT H SRR
Fiif L 1 PN B R B R B
H_H

EM-CEE4 — 7 /L 2sq—-2C FEP (30) 7 7
EM-CET# — 7 /L 150sq FEP (80) HEEE  188.5+190. 2 378.7
EM-CET# — 7 /L 38sq FEP (50) HIZE 164, 3+132.6+178.6 475.5
EM-CET# — 7 /L 38sq FEP (80) 7 7
EM-CE/r— 7 )L 60sq—-2C FEP (65) HEE  94.5 94.5
EM-TEEAR 2.0 x 1 BN 94.5+164. 3+132. 6+182. 2 573.6
EM-IE7E## 22sq x 2 &N 188.5 188.5
EM-IE7E## 8sq x 2 BN 190.2 190. 2
T FEP (80) HIEY 7+188.5+190. 2 58 7

(& &b 17 2300. 7
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B/UOELE

QAR BRAE [HAEEREEERR]

No. H ES fia B4 fii 22 T st B, SEFOE
1 | BHFa—EI L EES A EM-CET4#—~7 /L  38sq FEP(80) R 14,942, 1 7
2 | EBHFa—tIs g B FEP (80) CHEER 4.9+2.1 7
3 EBHFa—bIL PAS#E# EM-CEE4— 7 /L |2sq-2C FEP(30) CHEER 4.9+2.1 7
4 | EHFa—vI kA LAy B EM-CE#—~7 /L 60sq-2C FEP(65) M 3. 6+46. 9+26. 9+11+2. 5 1.8+1.8 94.5
5  EHFa—vs ~A LAy EM-1E7EAR 2.0 x 1 BN 3.6+46. 9+26. 9+11+2. 5 1.8+1.8 94. 5
6  BEHFa—tsL AlESyEEO EM-CET#— /L 38sq FEP(50) HEER 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+4. 4 1.8+1.8 164. 3
7 B Fa—E s AESEED EM-TEZE AR 2.0 x 1 N 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+4. 4 1.8+1.8 164. 3
8  EHFa—tIL Ay EEO EM-CET#— /L 38sq FEP(50) M 3. 6+46. 9+31. 5+33. 7+10. 3+3 1.8+1.8 132.6
9  BiFa—br AEEHRO EM-IEZE## 2.0 x 1 BN 3.6+46. 9+31. 5+33. 7+10. 3+3 1.8+1.8 132.6
10 BEBixa—ts Ry B EM-CET#— /L 38sq FEP(50) P 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+11+8. 8+2. 5 178.6
11 EBIF¥=—tEI 1 MRy B EM-TEFE AR 2.0 x 1 N 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+11+8.8+2. 5 |1.8+1.8 182. 2
12 EiFa—brL t/&—/\vw\%f&“ EM-CET#—~7 /L  |150sq FEP(80) HEER 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+28. 6 1.8+1.8 188.5
13 BEBAFxa—trr BUE—ADURSER EBRE FEP (80) B 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+28. 6 1.8+1.8 188.5
14 BEBAFxa—tr B E—TRSEE EM-IEER 22sq x 2 N |3, 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+28. 6 1.8+1.8 188.5
15 BiFa—t o | kv Z— 7 RB M EM-CET#—7 /L | 150sq FEP(80) CHEER 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+30. 3 1.8+1.8 190. 2
16 BiFa—trn | kX — B ERE FEP (80) B 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+30. 3 1.8+1.8 190. 2
17 B Fxa—v s | BUF— R EM-IEBAR 8sq x 2 BN 3. 6+46. 9+26. 9+4. 3+35. 5+7. 6+31. 5+30. 3 1.8+1.8 190. 2
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g AR JEAMAT B i No.
24 {;;
¥
m -
ar B4 R B4 2
LEDBTEAT
IKERT 4007 45 BAR 4 6 6
HRRAT AR — L
¢ 76 6 6
JRIMT B
$ 700X 1,300 6 6
BEl T
DFE 6 6
Jr—7 LR
av ) — R 6 6
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BB (RIMT RN SEat

O A B SR AR
EM-CEA— 7V | G
1] 3. 5s5q-2C FEP (30)
= H e it FEP& PN R
EM-CE4# — 7' /L 3. 5sq-2C FEP (30) P 333.5 333.5 333.5
aatEE ) 333.5 333.5
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BUOHLE (P&

AR B RN
Jii BT B i
H_H
EM-CE4 — 7' /L 3. 5sq-2C FEP (30) M 146.9+186. 6 333.5
(& &) 2 333.5
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BUOHLE

O ARRE [BRAMTBE]

No. &l ES A A IS S i S b, S 21
1 BAMT  ZEM] EM-CE/—Z /v 3.5sq-2C FEP(30) MK 25. 2+57. 4456 1. 8+1. 3+1. 3+1. 3+1. 3+1. 3 146. 9
2 | EBAHMT | A EM-CE#—Z7 )L 3.5sq-2C FEP(30) MK 64. 3+2. 2+16. 3+32. 9+8. 6+6. 4+41. 1+4+2. 5 1.8+1. 3+1. 3+1. 3+1. 3+1. 3 186. 6
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" & yoy
A = JiE JiE
5 ® ®
a2 4
LEDHRHZR &
LSSIMP/RP-4-46 9 9 9
P2k
2P15A X 2+ET 9 9 9
By R AA > F
1P15AX 1 1 1 1
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a7 Y—h | (18-8-25) V = 0.18%0. 18*0. 45%6 = 0. 087 0.1 n’
Bl [EL AR A = 0. 18%0. 45%4%6 = 1.944 1.9
L H=1000 _ =
IR L = = 10.000 | 10.0 m
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| HN S L7z A AT % B OB OE 10m 4V
2000 2000
IR t=1.6
1 i i
XATF4 VR |
t=0.6 |
‘ I ‘ o 1
‘ -t t=0 J -chRdft t=0.8 ‘ ES |
% t=1.6 i
| |
(KiR7A) = ‘
i ! ’ /F_u i 2 !
T = 1
I I |
‘ XATTAUE ‘ |
t=0.6 = |
|
| ‘ | i
GL+0m - | h
! [STK500] [STK500] ! 8
I $50.8x2.3 $50.8x2.3 i 8
| Wy ‘
g — W =
B G % o) E
00 400
500 avh1)-118-8-25
EHBBA RC-40
1,000
FEREN=6F5/10m24
pa o O " X e 5
R V = (1. 0%1. 0%0. 75+0. 5%0. 5%0. 1) *6 = 4,650 4.7
MR vV = 4.7 — 0.9 = 3.8 3.8 n’
A+ V = (0.5%0. 5%0. 1+0. 4%0. 4%0. 75) *6 = 0. 870 0.9 o’
FmEIE A = 0.5%0. 5%6 = 1. 500 1.5 m?
A (RC-40) A = 0.5%0. 5%6 = 1. 500 1.5
a7 Y—h | (18-8-25) V = 0.4%0. 4%0. 75%6 = 0.720 0.7 n’
Bl [EL AR A = 0. 4%0. 75%4%6 = 7. 200 7.2
B L7=x= |, _ _
o H=1800 L = = 10.000 10.0 m
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7l N WAL # B ORF R 1T 40

H B 8 2 R 82-1226-59-0144-1

& {1 M = =x £ =

@I 0)—k _ _
(21-15-25) (13.78 X 5.25—4.57 x 2.345) x0.78

(4.025x 467 x2+5.15x%2.325) x0.53=21.799

457x%2345%x0.12=1.286

21.799+1.286=23.085 23.085 m3
HEEar ) —rEIP | (13.78+5.25+2.345) X 2 X 0.78=233.345 33.345 m2
Bavg)—k _ w
(18-15-25) (13.88 X 5.35—4.47 x 2.345) X 0.05=3.189 3.189 m3
£ar o) —rEE |(13.88+5.35+2.345) X 2 X 0.05=2.158 2.158 m2
EEERA t100 _
(RC—40) 13.88 X 5.35=74.258 74.258 m2
KL 13.88 X 5.35=74.258 74.258 m2
ERiE 14.78 X 6.25 X 0.91=84.061 84.061 m3
Bt (13.78 X 5.25—4.57 x 2.345) x0.76+

457 X 2.345 X 0.2=48.981

(13.88 X 5.35—4.47 X 2.345) X 0.15=9.566

48.981+9.566=58.547 58.547 m3
EBR 84.061—58.547= 25514 25.514 m3
£53:7)] D10 0.864 t
BB D10 200 X 200 0.071t
Toh—RILk M16 L=200 24K
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o = BAT MR R OB 1A 4V
/ AN
e .
///\ @70 / \\
/ ‘u/‘ u \
! MBIV - MBS — ! Al 00 405
, - ﬁjleanyxam
" 1 }_‘ \+ N T F = W0 x L 2\ VeL (1F) z
MJ il M B00x800 % N:;Ag Y= 8825
2600 x 2600 3100x 3100 2600 x 2600 &:xgﬂms @0
200x2700 3200 % 3200 2100x2700 (800X 400L (PEE)
I‘IDﬂ “ 3,800 B 330 @ﬁ%ﬂéj;frnlg% t :300
4 i B = X i =
3. 8%3. 8%0. 55+3. 2%3. 2%0. 15+ (3. 3%3. 3%0. 55+2. 7 3
W :}E v %2, T%0. 15) %6 (0. 13%6+0. 05%4) *0. 55 51. 437 51. 4 m
R v 51.4 —  29.2 22.218 22.2 n’
3. 1%3. 1%0. 35+0. 8%0. 8%0. 15%3+3. 2%3. 2%0. 2+ (2. 3
§§ j: v 6%2. 60, 35+0. 8%0. 8%0. 15+2. 7*2. 7*0. 2) %6 29.220 29.2 m
HmHEIE A = 3.2%3.2+2. T*2. T*6 53. 980 54.0 m?
Py (RC-40) A = 3.2%3. 242, Tx2. T*6 53. 980 54.0
%‘Efi <7 lorgos Vo= 3. 1%3. 1%0, 35+2. 6%2. 6%0. 35+6 17.560 | 17.6 o’
il pe A = 3. 1%0. 35%4+2. 6%0. 35%4%6 26. 180 26.2 n’
i;’jk i 7 18-8-25 V = 3.2%3.2%0. 05+2. 7%2. 7%0. 05%6 2.699 2.7 w
U A = 3.2%0. 05%4+2. 7%0. 05%4%6 3. 880 3.9
REa (0. 8%0. 8-0. 406%0. 406% 7 /4) *0. 25%7+ (0. 8*0. 8- 3
J— k 18-8-25 V= 0. 165%0. 165% x /4) 0. 2546 1. 821 1.8 m
?~Z7 Y pL-28 %300 X 300 N 6. 000 6.0 f
PL-28 X 600 X 600 N 7. 000 7.0 £
7;/ A=Y oox 400l (EHE ) N = 8+4x6+8%6 80.000 | 80.0 A
SR D13@200 L = 2.96%15%2+2, 47*12%2%6 444,480 | 444.5 m
0. 995kg/m W = 444. 5%0. 995/1000 0. 442 0.44 t
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H BT M R R B2

L& AT %Y

o
% W Bl B = % B

IZ3 £ FLHEFL  N=291H = (1. 2%1. 2%0. 55+0. 60. 6%0. 15) %29 = 24.534

JLREF2 N=1{H 3. 55%3, 55%0, 65+2. 95%2. 95%0. 15 = 9.497

IiEFD =200 T Bbi0. 0641, 1,611, S5y 55 = .08

JLREGT N=3{H (1. 4%1. 4%0. 55+0. 8%0. 8%0. 15) %3 = 3.522

HREG2 N=3fH (2. 0%1. 4%0. 55+1. 4%0. 8%0. 15) *3 = 5.124
A7t = 51.585 51.6 m’
R 51.6 —  16.7 = 34.880 | 34.9 n’

v53 + FLREFT N=20H (0. 5%0. 5%0. 5+0. 6*0. 6*0. 2) %29 = 5.713

ELfEF2 N=11H 2. 85%2. 85%0. 5+2. 9542, 95%0, 2 = 5.802

JLREF3 N=20{H (0. 35%0. 35%0. 5+0. 45%0. 45%0. 2) %20 = 2.035

HREGL  N=3{H (0. 70. 7*0. 5+0. 8%0. 8*0. 2) *3 = 1.119

JLREG2  N=3{H (1. 3%0. 70. 5+1. 4%0. 8%0. 2) *3 = 2,037
A5 = 16.706 16.7 w’
e ST SO0 ry | s
— (RC_40) ?éi;ééi;i?ﬁ#g?gié%m45*0' 4552040 oo yma | gg 5 o2
i I T B
e e T s | s
AL saas OO G | L4
L GO I SO o | 10y
ff"i'%?/y 18-8-25 2. 85%2. 85%0. 25 = 2.031 2.0 mw
FR LT 2. 85%0, 25%4 = 2. 850 2.9 m?
?‘~;<7°1/~ PL-12 = 9.000 | 9.0 #%
7;‘/77**\”’ ne 9%4 = 36.000 | 36.0 A
FESi D13@200 2. T*14%2 = 75.600 75.6 m
0. 995kg/m 75. 6%0. 995/1000 = 0.075 | 0.08 t
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AT T AT 7L RS B S B EF Bl 100m2 24 v
RE BETAWNERY (BHE)
LB RFERA (M-30)
3
3
=
3 4
2
TE : B&EI799170 (RC-40)
% WOk H y % &
TA77IVNEEE L | t=50 V = 0.050%100 = 5. 000 5.0 m3
B T AL 2.15t/m3 W = 5.0%2. 15 = 10.750 | 10.750 t
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moooa HEEER Ty 7 Wk BAT M R FF B 100m %Y
mESEEER IOV
150
| 3 .
VAN : 3 % =
HEBBE (RC-40) 190
290
7oy HEEE 49%ke/AK (0. 6m)
4 R MO 1 =X Py iy
/) -MIEE L | A = 0. 29%0. 02%100 = 0. 580 0.58 i’
2084 LO. 6m = 49kg/2. 5t/m3/1000%1654% = 3.2340 3.20 n’
ekt CofEff  2.35t/m3 = 0.58%2. 35 = 1.363 | 1.363 t
2B 2.5t/m3 = 3.2%2.5 = 8.000 | 8.000 t
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w HEER 7o vy ik BAT M R FF B 100m %Y
120 hEER IOV
<
T >
B o
AN 3 S
HERFBRA (RC-40)
220
Tnvy 7 5EERE 20ke/A(0.6m)
4 R MO 1 =X ¥ =
ay))-PEE L | MRS = 0. 22%0. 02%100 = 0. 440 0.44 p’
2084 LO. 6m = 20kg/2. 5t/m3/1000%1654% = 1.3200 .3 n’
ekt CofEff  2.35t/m3 = 0. 44%2. 35 = 1.034 | 1.034 t
2k 2.5t/m3 = 1.3%2.5 = 3.250 | 3.250 t
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ool HED  fiE YV ] 105 %4y

48

700

o114

| 2v9Y-+18-8-25

HEEBA RC-40
JE%FA\T
R s g
De@=@ ~a -84
0500
* HL R OB E EE=12. 5kg/ %

4 r MO " =X ¥ o=
vy - EREE L | Vv = (0.5%0.5-0. 114%0. 114% t /4) %0. 3%10 = 0.719 0.72 w’
ekt CofEff; 2.35t/m3 W = 0.72%2.35 = 1.692 | 1.692 t
LY U S R W o= 12.5%10 = 125.000 | 125.0 kg
= 0.125 | 0.125 t
&R 1.13t/m3 V = 12.5/1.13/1000%10 = 0.111 0.11 n’
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=Bl g HAL fo& B 10m 49
150 avsy—rJaovy
(=2
S
—
AL 2 3
250
4 R MO 1 =X ¥ =
a/))-MEE L | V = 0.25%0. 01*10 = 0. 025 0.03 '
oYL, V = 0.15%0. 3%10 = 0.4500 0.4
BER ColEf  2.35t/m3 W = 0.03%2.35 = 0.071 | 0.071 t
2B 2.5t/m3 W = 0.4%2.5 = 1. 000 1.000 t
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ol FREAHI HAL # & A E 10m 479

$100 1,500 @100
PCHAH ¢100
1 S
o 2lg RETUELAIL
§ ©
yGL 3
\%- Q\ \% ?Q\ = 33
B o B o
15 a
50 | |02501 | 50
0350
* 2 EEHE=19kg/m (PNEH0. 65kg/m)
4 i O " 2V Py iy
B (0. 35%0. 35%0. 05+0. 25%0. 25%0. 2—
\ _ A4 — — 3
) ) - NEREE L R Vo= 0 1%0. 1/ 4% 5 %0, 2) K6 0.102 0.10 o
2391 ColEf5  2.35t/m3 W o= 0.1%2.35 = 0.235 | 0.235 t
SRk LSy W = 0.65%10 = 6. 500 6.5 kg
= 0.007 | 0.007 t
&E<T 1.13t/m3 V = 0.65/1.13/1000%10 = 0.0058 | 0.006 p’
BE T ALy W = (19-0.65)*10 = 183.500 | 183.5 kg
= 0.184 | 0.184 t
FE7F  0.35t/m3 V = 18.35/0. 35/1000%10 = 0. 5243 0.52 n’
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CE Gl Ay ad oA HAL # & A E 10m %49

2000 2000

- - : SEi 7

WL ?;ﬂﬁl&t=l.6 WL }

S Ayva }

|

S s |

2-4itr t=0.8 > =3 |

= Rg t=16 ‘ !

(KRR 1) i

GL+0m  [& - = = 1y —
o ‘ SE .
ﬁ $50.8x1.6 $50.8x1.6 QJ < g T
180 180
av9Y-p18-8-25
*&BSEEE=T. 4kg/m
4 i O =1 =X %% 5
k k — k k
-V L | v - (0. 18+%0. 18%0. 45-0. 05%0. 05/4% _ 0. 085 0.09 o
*0. 2) *6

ekt ColEf5  2.35t/m3 W = 0.09%2.35 = 0.212 | 0.212 t
SRk LSy W o= 7.4%10 = 74.000 74.0 kg
= 0.074 | 0.074 t
&E<T 1.13t/m3 V = 7.4/1.13/1000%10 = 0. 0655 0.07 n’
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wo $EKE BAT ¥ B R B 100m %4V
G. L
§ 8
— HIVP20
al
\
400
% 2% B E=0. 303kg/m
4 R MO " =X Py iy
BTy |BEST 0.35t/m3 V = 0.303/0.35/1000%100 = 0. 087 0.09 n’
W = 0.303%100 = 30.300 | 30.30 kg

0.030 | 0.030 t
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w5 B WY B R R E| 0 100m 40
° —
2
Q
400
(FEP40)
* 2EZHEE=0. 3kg/m
4 R MO " =X Py iy
BTy |BEST 0.35t/m3 V = 0.3/0.35/1000%100 = 0. 086 0.09 n’
W = 0.3%100 = 30.000 | 30.00 kg

0.030 | 0.030 t

-91-



=l

w5 H.H (/b F=p) BAT ¥ B R OB 1 0[P 4v

0750

450

gf a%4')—h18-8-20BB
1 8 N — B4 Y592 v 5 (RC-40)

150

300

1,000

300

(A
s

570
1750
* A S % H #=T8kg/
NURR—)L TR MHE (10 Er HY)
& mARiE BE (B K AUBEH1502 % HE F=43kg/
avHy—k 18-8-20BB 02 | m3
ER 100 | 1@ o
B 450 X 450 X 300 200 | @ * A BEH3005 %5 B &:=85kg/
{558 450 x 450 X 150 100 | &
HikE i E ¢ 450 100 | #A * Pk E EE=-30ke/M
4 R O = E2V B =
/)Y~ MESE L | ColiER Vo= BEER LD = 0. 200 0.2 n’
2UR LA, V = (78+43+85%2)*10/2.5/1000 = 1. 164 1.2
A CoMEfy 2. 35t/m3 W = 0.2%2.35 = 0.470 | 0.470 t
2RELEL 2.5t/m3 W = 1.2%2.5 = 3.000 | 3.000 t
i ERsy  eELT W = 30%10 = 300.000 | 300.0 kg
= 0.300 | 0.300 t
& <F 1 13t/m3 V = 30/1.13/1000%10 = 0. 265 0.3 m’
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=l

wo AN = MpE-1 BT % & R OB 10T 4

SEMAEE ik

$ 440
$274 SHERSE BETSAF VY
- ﬁﬁ !
(Yo [X2)
- @
A - o
>0 ¢ 216 S =
g
I
BEEIEE=LE WU 200
j_‘\&?:"i?’ (R kL—F) ST 150-200
BEEEEZLE W 150
kB T &5 HE=10. 129kg/m
* TS B EE=12. bkeg/f
4 R MO " =X % S
BES Ty |BES T 0.35t/m3 V = 10.129%0. 6/0. 35/1000%10 = 0. 174 0.17 o’
W = 0.6%10. 129%10 = 60.774 | 60.77 kg
= 0.061 | 0.061 t
i ERsy  eELST W = 12.5%10 = 125.000 | 125.0 kg
= 0.125 | 0.125 t
&R 1.13t/m3 V = 12.5/1.13/1000%10 = 0.111 0.1 n’
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wo AN = MpE-2 BT % & R OB 10T 4

=l

aYoY—+E

100 ¢ 380 100

o I \\\\ T
7

200

=1000

400

. :%
'8

‘:‘
| EEEEEE

580

150
U

* BB EE=5T0T3HEL 110+ BB 7+ T IBE 74+ K BE89=443k g/ {4 FIT

EA Bl & B X ¥ &

a/)-hEEE L |20k B 2. 5t/m3

=
1}

443/2.5/1000%10 = 1. 772 1.8

BEAS 2 i W = 443%10/1000

4.430 | 4.430 t
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w5 15K & BAT ¥ B R B 100m %4V

GL
(=
S
Al
I
8
3
]
BEE{EE = )LEVUI50
700
* 2EEE=3. 941kg/m
4 R O " 2V e &
BT gy FEZ'Z  0.35t/m3 V = 3.941/0. 35/1000%100 = 1.126 .1 o
W = 3.941%100 = 394.100 | 394.10 kg

= 0.394 | 0.394 t
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moow el WA MR R OB 1T MY

[A-Akga

% $EE 1240 (¢ 500) &5 EH E=49kg/#H

bt 25 (2. 1X1. 1XH1. 5) B EER&=180kg/ 5k

P LAE 33:(2.9X 1. 9XHL. 8) & B &=510kg/%:

4 R B " =X % S

ay))-MEE L |8k V = 13.5%3. 4%0. 2 = 9.180 9.2’
BEkt kA5 2.5t/m3 W o=9.18%2.5 = 22.950 |22.950 t
BT T4y |BEFS 0.35t/m3 V = 1890/0. 35/1000 = 5. 400 5.4 n’
W = 180%2+510%3 = 1890.000 |1890.00 kg
= 1.890 | 1.890 t
Bl U S B R W o= 49%12 = 588.000 | 588.0 kg
= 0.588 | 0.588 t
&B< T 1.13t/m3 V = 49%12/1.13/1000 = 0. 520 0.5 n’
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